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NO. T Aok Ak H| 2
1 Met7|7] BME MRHE XA E= 2,050,650,780
2 GPU AMH{E F0Oj 22Oz 1,888,597,700
3 ICTE&=¢ O{2l0| M&tr|7| HBME o2 &3D= 2 F0of 30 267,300,000
4 Me7|7| AEME MFHE TISA E=penl 254,402,220
5 ICTE =8 o{2I0] X{27|7] HBME QETH|HFZA|AH F0j ZE30 232,650,000
6 EANAl QlEEt R HEQT ALK & date Loj E=penl 232,550,000
7 Meto|7) dEME M7\ SAF 2o AR (ERFE) FOj LtgtatE &S 187,054,800
8 ICTESY O|2I0] X{g7|7| HEMEH X Wees A +0j E=penl 184,300,000
9 Me7|7] AESME A=SA 2SR EI0]2) 0 Lt2tEH £HE 155,349,700
10 o7 AEME MRHE d53A 4F2e8Y E=penl 149,105,050
11 ICTE =8 O2I0] X{&7|7] HBME HSAMEAIRT| F20j E=ponl 145,200,000
12 CES2025 A47| Y X AAY X2 & &9 ZEI 128,000,000
13 ICTE =% o2I0] X{&7|7| 4B ME 2L 7|7| Foj E= 126,100,000
14 20243 7| EHSH A2 2N G SHIPY Y ZEI 118,000,000
15 Het7|7] EME MRHE SASAL 30 107,660,000
16 Met|7] HEME ARSA 2SR ED) F0j L2t 422 106,091,610
17 A AR A S0/ SSEAMS 28 T A FOj E= 104,491,680
18 AUHEXAE0|H SIS EAME FEE 2%t =AM F0j ZEID 103,961,470
19 7|7 HESME 7| SA SRR (A B LtgtatE 2 HE 89,337,000
20 Met7|7] HESME AR SAF SRR (E 7)) Foj LIgHEE 422 79,834,920
21 NMe7|7] HESME ASSA S X (S5 E) F0of LtgtatE 2 HE 77,954,890
22 ZACH Al G| B 2T S| F0j LEHEE 28 E 76,740,170
23 74*+§HX|*'i0IE1 A7) F2oj Lzt et 2 HE 73,086,530
24 ICT8E8 O{ZI0| A&t7|7| MBME Ha7|(AAH) Foj 23 70,800,000
25 HAALANAAY 2 Ao 458 ZFH W DL F0j Lt2tEE £HE 66,971,700
26 AeaFd AN E ZMX|A AY TS AL 0) PSS 64,430,000
27 ICTE =% o2I0] X{&7|7] 4B ME Oo|MTSXHEH| i E=ponl 55,000,000
28 HE2|7] 4B ARSI A 22X EY) L0} L2t 422 54,231,270
29 SL/7HEA £ AA-> FO) E=ponl 49,960,000
30 ICTESS O{20| X{&t7|7| ABME M= EYEH| 0j ZEID 49,500,000
31 ICT8E% O{2I0] X277 HBMY e as SHAH 72oj ZH30 48,500,000
32 ICT8E¢8 02I0| M&7|7| dEMEY Z2 10l = MASSZYHA| F0oj ZEID 44,000,000
33 Het7|7] BME MRHE AYSAL E=ponl 42,502,400
34 o7 dEME dFetd & HEQIMH F0j L2t H 2 HE 38,735,500
35 FAE AR M E0|H S =AM 2 L EA oXt Lt2tEE £HE 36,342,040
36 ICTESS O{2I0| X{&7|7| AEME HZZHAHEH| o) ZEID 36,000,000
37 22 AN E HELAME 7HEQE & HX| 9 ZA E= 34,392,500
38 Z{L] Al GO MIE| St23tE7| Toj LetEH 2 HE 29,874,450
39 ICTE =% o{2I0] X{&7|7| HEMEH X|s/dEAAEH| F0j E=ponl 29,700,000
40 ICTESS O{2I0| Xj&7|7| AEME SHXNE2SHA 7o) 230 29,400,000
41 ICTE =8 o{2I0] X{&7|7] HBME &7127| 52| S5 Fij E=ponl 28,500,000
42 248 HAANY W& ®7|Xt HiH2[ M E FH| F0oj =) 28,002,600
43 7|7 HESME 7| SA 2SR (EY7|7]) Foj LtgtatE 2HE 15,875,380
44 A FLZMA A2 YE Qo ARE 587| +0j LetEE 2HE 8,847,520
45 EHUAIGHAFEME M2 HEIHO|Z 7Of #ixLiet A2 = 7,970,000
46 G AX| A S0 @AT| 2K} L2t E 0j LtEtEH 2-E 7,920,410
47 AL AAY MBS HEJYIALK| ZH|mH| LtgtatE 2HE 7,797,880
48 7 AZEQIOf 7Oj L2tEE 2HE 6,749,540






